Sol.

Sol.

Sol.

CONTINUITY
PREVIOUS EAMCET BITS
2sin x —sin 2x

. . if (x#0)
If f=IR — IR isdefined by f(x)= 2X COoS X
a if (x=0)
Then the value of a so that f is continuous at 0 is [EAMCET 2009]
1)2 2)1 3)-1 4)0
Ans: 4
C0S3X —COS X for X0
If f:R >R is defined by f(x)= X2 and if f is continuous at x =0,
A for x=0
then A = [EAMCET 2008]
1)-2 2)-4 3)-6 4)-8
Ans: 2
f is continuous at
x:0:>XI;tof(x):f(O)
- Lt cosSx:cosx Lt —3sin 3x +sin X
x—0 X x—0 2X
Lt —9c0s3X + CoS X _ —9+1:_4
x—0 2 2

x-5 for x<1
If f(x)=14x"~9 for 1<x<2thenf(2")-f(2 )= [EAMCET 2007]

3x+4 for x>2
1)0 2)2 3)3 4) 4
Ans: 3
f(2')-f(2)
:(3(2)+4)—(4(2)2—9)=3

1-/2sinx . T

— if xz= °
If f(x)= = 4x 4 is continuous at, 2 thena = [EAMCET 2006]

a if x=2
4

1)4 2)2 3)1 4) 1/4

Ans: 4

f(x) is continuous at X =

lii?:f(x)zf(%j

T
4




Continuity

Sol.

Sol.

Sol.

o1
oI m—4X X%g(x)
_jimY2cosx V2 11
x>t =4 4 2 4
4
X2 jtxeR-(12)
X°—=3X+2 f(x)—f(2)
If f R >R is defined by f (x) = 2 if x=1 then Iin;—zz
X— X_
1 if x=2
[EAMCET 2005]
1)0 2) -1 31 4) - 1/2
Ans: 2
_x=2
Lt f(x)-f(2) _ g X2=3x+2
x—2 X—2 x—2 X—2
1
—— A
—(x-2
TS T e Y
x>2 X —2 x=>2 X —2
_X¥2 fxeR{-12)
X" +3X+2
If f:R >R isdefined by f(x)= -1 if x=-2  then fis continuous on the set
0 ifx=-1
[EAMCET 2005]
1) R 2) R—{-2} 3) R—{-1) 4) R={~1,-2)
Ans: 3
Lt f(x)= Lt =+2
X—>-1- x>-1- X° +3X + 2
Lt L:—oo, Lt f(X):oo
x—>-1- X +1 X——1+
Lt # Lt
Xx—-1-  x->-1+
.. f(x) is not continuous at x = -1
_ Wik -k for-1<x<0 . : _ _
If f(x) =- X is continuous at x =0, thenk = ... [EAMCET 2003]
2x% +3x -2 for0<x<1
1) -4 2)-3 3)-2 4) -1
Ans: 3
i YL RX = V1 —kx
x—0 X

= Iim(2x2 +3x—2)

x—0




Continuity

Sol.

Sol.

10.

Sol.

=lim 2K =
x50 \J1 4+ kx ++/1—kx
k=-2

-2

a’cos’x+b’sinx  (x<0)

If f:|R > R| defined by f(x) :{ is a continuous function, then

g™+ (x>0)
[EAMCET 2002]
1) b=2logla| 2) 2b=logla| 3) b=log|2a| 4) b? =log a|
Ans: 1
XI;tof(x):f(o)
_ ax+b _ A2 2
_XI::[ye =a*(1)+b*(0)
e’ =a’=b=2log|a|
2x+b (x<a) . :
If f(x)= is such that limf (x)=/,then ¢ = [EAMCET 2001]
x+d (x>a) x—a
1)2d-b 2) 2b—d 3)2d+b 4) b -2d
Ans: 1
lim f(x) = lim f(x)
lim (2x+b)= lim (x+d)
20+b=0+d=a=d-Db
s lim(2x+b)=/(=20+b="¢
= 2(d-b)+b=/
S 0=2d-b
sin 3x (x » 0)
If the function f (x)= )|: is continuous at x = 0 then k = [EAMCET 2000]
7 (x=0)
1)3 2)6 3)9 4) 12
Ans: 2
: (sin 3x] k k
lim =—=3=—
x—0 X 2 2
= .. k=6
R R R R




